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(1) ZEferE (v) WTHOEFICELY v = 10.0 %
(2)BLATEE (m)
at= —— 5 = 1.250
100
m = a1l X SL = 1.250 X 24 = 30.0 N/mf
ko>T m = 30.0 N/mf
(3)KkEAL FEE(W/C) m = -18.4 + 27.6 X C/W
W/C = 27.6 = (30.0 + 18.4) X 100 = 57.0 %
W/C =570 %
(4) BAKE (W) WTHOFEFICEY W = 158 ke/m
(5)HNE AL FE(C) C =W =+ (W/C) X 100 = 158 = 57.0 X 100 = 277 kg/m
Cv= C + B = 277 =+ 3.04 = 91 L/m
(6) 7558 (A) A = 4.5 % X 1000 = 45 L/nd
(7T)HENMCHEME(G) S THOERMEICEY HEIFME = 0.655 m/m FREE = 62.0 %
Gv = 0.655 X 1000 X 62.0 +— 100 = 406 L/mt
Glv = Gv X 60.0 % = 244 L/m Gl= GIVXRWHEE = 244 X 2.71 = 661 ke/m
G2v = Gv X 40.0 % = 162 L/m G2= GyXEWEE = 162 X 2.63 = 426 ke/mi
(8) AL Ek & (S) Sv = 1000 — W+ Cv+Gv+A) = 1000 — 700 = 300 L/mi
Slv = Sv X 30.0 % = 90 L/m S1= SIvXELEE = 90 X 2.76 = 248  ke/mi
S2y = Sv X 70.0 % = 210 L/m S2= S2vXEWEE = 210 X 2.57 = 540 kg/m
(9 HIEM=E(s/a) s/a = Sv + (Gv+Sv) X 100 = 42.5 %
(10) Al & (Ad) Ad = C X IE = 277 X 1.000 % = 2.77 kg/m
e A& ke /mi
Ak N T 7§ K H i iz HL =1 # Mz n il
©) @) ©) ©) ® ©) @ ® @ ©) @ ®
277 — — 158 | 248 | 540 — — 661 | 426 — 2.77 — —
o AT o | AMEAH[MEMD:@ 30.0:70.0
7k'1?)< NN 57.0 /o i H 1:7}‘ = 42. 5 /O <§*§/ﬁ'ﬁ/ﬁ\ *H”%"M@@ 60. 0:40. 0

1+




